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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
T

“00 ' _ IR T —— .

N/\vmw MJ,V/ ! VU\A’\/JH ¢ VY VUVVWUWW\

30.0 '

! W
275 ! Jw/'\\/“"\—/ N \/\f\v\A
pd NN

25.0

1

1

|

1

1

|

1
22.5 .

/

20.0 V A

ﬁ

v

AT
1
15.0
| i
12.5 :
0 25 50 75 100 125 150 175
d
T
80 i RH
: ———  RHopt
. - nvwl\\\
60 \"m A
A
50 A |
1
1
40 V i
0 25 50 75 100 125 150 175
d
1 I_
I /V’ V VS \VIV _%\\ optETc
1
e Y
1
1
1500 :
1
I/_ﬁ, Y\“
1000 YA \q:\Q
500 M: \
N
1
1
0 2

5 50 75 100 125 150 175

T — LAl

s \
/ L

1.5 /:/ \_\-\-\

1.0 /
0.5

5 50 75 100 125 150 175

1.4

:(2, nl\\

m
I 1 WAy Lo ‘ |

|

0.4 l
|

5 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

minFVI
minFVO

1. 04 A

1.02 A

1. 00

0. 98 -

0.96

Warning: col [ ETcAlraw’, "ETcA1", "ETcA2raw’, 'ETcA2’] is missing

—@— ETcA

1.0

0.2

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

1
2200 - :
1
1
2000 - |
1
1
1800 :
1
1
1
1600 - 1
1
1
1
1400 - :
Warning: col ['ECC’, 'ECI’', "ECO'] is missing :
1200 4 —®— ECopt :
1 1 1 1 . 1 1 1 1
6. 8 a : —.— PHopt
1
1
1
6. 7 N 1
1
1
6.6 1
1
1
6.5 -l—H—.—.—H—.—H—.—H—.—.—H—.—H—.—.—.—.—*—H—.—H—.—.—.—H—.—Hﬂ—.—Hﬂ—G
1
1
6.4 - 1
1
1
6.3 - :
1
62 Warning: col ['PHC’, 'PHI’, "PHO'] is missing :
’ 1
1
1 1 1 1 . 1 1 1 1
31.5 1 : —@— WCperM
1
1
31.0 + 1
1
1
1
30. 5 ~ 1
1
1
30.0 -D—H—.—.—H—.—H—Q—H—.—.—H—.—H—Q—.—.—h*—H—.—H—Q—.—.—H—Q—H—.ﬂ—H—.—G
1
1
29.5 - :
1
1
29.0 - |
Warning: col ['WCperMraw', 'WCperMavg'] is missing :
28. 5 1
1
1 1 1 1 . 1 1 1 1
0.50 —0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—90—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—
1
1
1
0. 45 - 1
1
1
1
0. 40 ~ 1
1
1 —@— minDeltaM
0. 35 : —@®— avgDeltaM
: —@— stdDeltaM
0.30 —l—H—.—.—H—.—H—.—H—.—.—H—.—H—.—.—.—.—FH—.—H—.—.—.—H—.—Hﬂ—.—Hﬂ—G
1
1
0. 25 - |
1
1
0.20 p—C——C—C0—C0—0—0—0—0——0—0——0—0—C——0—0—C0—0—C—0—0—0—C—0—a0—C—0—0—0—C0—0—0—C0—0—C—0—0—0—0—0—0—C—0—
1
1 1 1 1 . 1 1 1 1
NP0 9000009 00009000000 000090000090 000000000 ¢ .
: =@ maxM
98 : —&®— minM
1
1
1
i 1
26 I
1
24 1
1
1
1
22 :
1
1
1
20 —o0—o—~o—o—o—o—Co—0o0—0o0—O0—0—0—C0C—0—C0—C0—0—O0—0—0—0—0—C0—0—C0—0—0—0—C—0—0—C—0—0—0—C0—0—0—0—0—C—0—{

adjFVOR

Warning: col ["adjFVIRraw', "adjFVIR, "adjFVORraw' ] is missing

Warning: col

["FRA™]

is missing

B |..
mn
=
=
Y
=

56

54 -

52

50 -

—@— beg wc

10 15 20

25

30

35

40

450 -

400 -

350 A

300 ~

250 -

200 -

150

100

50 A

@ postFgEtraw
—0— postFgEtavg
—@— postFgEt




- 100

FgDai ly

0.0-
2.0 -
4.0 -

- 60
- 40

6.0 -
8.0 -
10.0 -
12.0 -
14.0 -
16.0 -
18.0 -
20.0 -
22.0 -

o



P3-5_0

—0— ETcl

=@ ETbai

1000

800
600 -

400 -
200

ol ["VN'] missing

C

Warning:

1

0.8

0.6

0.4

0.2

—e— PPFD

—@— ETclis
—0— ETcPT

—@®— ETcRn

20

10

0

1.

0.8 -

0.6

0.4 -

0.2+

0.0

0.0

22 -

20 -
18
16
14

400 -
300 -
200 -
100 -

350

300 -
250 -
200 -
150
100

800 -

700

600 -

500 -
400 -
300 -
200 -
100



ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

ETcI

ETcIdef ETcP

ETcPT ETC|IS

So

ETol

ETbal

pR

VPD

PPFD

RH

1.0

0.8

0.6

0.4

-0.2



ETcl

ETol

° ° ° °
1000 - - o - ° Lo - s o
) ° L [ 1
800 - - ° o o © - e
° ° °
® ° °
600 - . . .
° ¢ e ® o o
® ° o o o
400 i ° ° ° ° o i o ° %
° ' o® © ©, . ° o |o o® o 8o
200 1 1 e ° i ° ° i e o
L) ) L] )
1600 - - ° - ° _ %o
o0 ® % o ®
1400 - . ° 1 ¢ . °
o* e $° e °* L% o8%%
i | ° | | e
1200 e o ®0 ° ° %o
1000 - o - o 1 o
° ° °
800 - { o e | ° ° ] o °
° ° °
600 - 1 e A ) A (]
400 1 i ° i o |o
°
22 N 1 - :.‘
o o .
@
20 - - - e« oo
r{}
® ° ®
— 187 e i ° i i °
° ° °
16 .. o K J [ ) .. _ K J [ ] ..
14 - . . .
° o e °© ° °
° ° °
T T T T T T T T T T
80 - [} 1@ ] 1@
70 - @ i (] i . [ 1)
o o® % o *
° PY ] ° ® )
e ° ® | ° i |1 e | o 0g°
§ 60 @ ° L Y ov ([ J [} ° °
° ° °
. o ° . o, . °®
50 - (] _ () _ _ ()
° ° °
° ° °
° ° ®
e 9 ® o % ® o0 §
40 - . o - . o
') ° °
T T T T T T T T T T T T
° °
WY e e o 0 1 . %] 1
e ° (3
(L0 ® o)y
300 - ° o0 o - 0,08 - -
% ° Qe
Je | ° 1l o J
250 ° °
_ ° o ° ° °
2001 ® o 1 o ° 1 e .
150 - : : : :
100 . . . .
° ° ° °
T T T T T T T T T T T T T T T T T
250 500 750 1000 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 80 100 200 300

ETcl ETol T RH I



hour

140

140

:05

110

:10

110

:10

125

L B
A

X

’%,\

N
“%

7R

2

=
X
N \%'\

o
-

§_

%,
gz
“
4
2

100

80

- 60

- 40



P3-5

BfE) | GEBERTIC (7)) | EBME (BEAH/#K) | XS R

07:40 185 120.0 5 FiHA@07:40 (K AERE)
08:40 185 120.0 & FnHfe08:40 (KRFEERES)
10:05 185 120.0 5 FiHH@10:05 (KRF1EEES)
11:10 185 120.0 5 Fiffe11:10 (KRAERS)
12:10 185 120.0 5 FnHfe12:10 (REERES)
13:10 185 120.0 5 FiHfe13:10 (KRFE1ERS)
14:10 185 120.0 5 Fiffe14:10 (KREEHS)
15:25 185 120.0 5 FiHfe15:25 (KRE1EES)
Eit|1480.0 (8%) 960. 0 3 UHK/EC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant)

P3-5_0, Day=24 (2025-04-22)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

27270

00

954

00

oo |

- 1000

- 750

- 500

- 250

TargetEC=2300. 0, | TargetSetEC=2000. 0

0.0

TargetPH=6. 5, TargetSetPH=6.5

200 -

100 -

ByWoFv @D24 02:48: ET=954 Fg=960. 0 Ro=99.0

;1500

- 1000

- 500

1.0

10

11

12

13

16

17

18

19

20

21

22

23

0.8 -

E3
B

E3
B

=
B

£33
B

E3
B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

800 4
600 -
400

200 -

A A Warhing:,‘:ol [Al

o

"PPFD_obs’] is missing

25 A

20 -

15 4

—col["T-obs_~» To obs" | is missing

80

60

40 -

—— RH

"RHo_obs’] is missi

Warning: lcol ['RH obs’,

0.6 1

0.4+

0.2~

0.0

0.0

0.2 0.4

0.6

0.8

1.

0

FRV (ml d-1)

cumET (ml/plant)



hour

100
0:00 -

0:05 - 80
0:10 -

6:15 -

10:30
11:30
I I I |
% N -
%\ A




P3-5

BfiE) | EBIATK (7)) | EME (EH/H) | XX R

08:15 140 120.0 FA| 1BRi%@08:15 Fzh (KABIERESE)
10:30 140 120.0 FA| 1i&@10:30 F3) (KRAFERSE)
11:30 140 120.0 FH 1Bi&e11:30 Fzh (RAERESE)
21| 420.0 (3)%) 360.0 32 03KEC: 2000.0, PH: 6.5

LOREBIRTC (140) 5747 (185. 0) A FF, Wt T X BRIERSEXIER
ERIASKPRERE91. 0 ml.

large discrepency for begining water status (450:204.0), set to 360.0 ml.
BE R i3t Bl RECEIRE ER K.

REREBFHHEREC/PHETR K, AIREZINIRELRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=23 (2025-04-21)

VI, Vo, RV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET L 800
100 -
L 600 ©
45 —
i —4005
50 2737855 =
Warni | CFVI', "FVO' ] missi - 200
00 arning: co , missing 00
0 -0
100 4 FRV —— ME P30
maxM
75 - 28
I-ul
50 - - 26 =
25 - 24
1.0 22
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
q . 4
600 1BylInit @D24 02:48: ET=808 Fg=960. 0 Ro=96.0 =
| - 1500 P
1 s
i } [=
400 I L 1000 >
1 E
! —
200 A o :ka - 500 “%
1
0 . . PN PN 0

600 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
I I T 7 2 2 A I I O

1
400 | BYEt @023 18:40: ET=535 Fg=513.0 Ro=nan !
] - 1000
lo—eo—o—o—o
200 - —o—o [—e&—e—e—® | 500
1
eod | 1 [ 21345678910l 13 4] T16][17[18]19[2 212 ]2
A | WA | B3 | B3 | O | B3 | T4 | P4 | B3 | ©A | B3 | B3 | OA | WA | DA |Am|km|Am| B | A | E | & | T [Z5] (50
1
400 - ByWoFv @D24 02:48: ET=255 Fg=360.0 Ro=0
] - 1000
: 4_.__.__’__._.__.__.__.—044 e —& o —o—o©
20 o o t10—o0—o o - 500
1

’—0 4 . 2 ® @ 4 . 2 ® @ 4 @  J
1
1.0 PN a__la P N P =S W 0

0 [ 1 2 [ 3T a5 6 [ 7T 8o JiwoJirJi12]1@8[14a]15[16[17[1w8]19[2 [21]2 723
ost FA | BA [ FH | BA | BH [ FH | BA [ PH [ FA | BA [ PH | BH | BA [ PH | BH [dEI[XM|/iE| BA [ B | EREZS

0.6

0.4+

0.2~

0.0

—_— 4
300 () | _obs
—@— PPFD_obs

T obs
To_obs

80 A

RH
o RH_obs
o RHo_obs

60

40 ~

e v P
h [)
o

hour

cumET (ml/plant)

cumET (ml/plant)



27 A

26

25

24

23 A

M_E

1.7+

7.6 7

7.5 4

7.4 4

7.3

7.2 4

T
500

T
600

m

T
700

m=510, FV0=0

- ME
24.0
23.5 -
23.0
o
T T T
510 515 520
m=510,m FV0=0
7.701 @ o— i
7. 65 -
7. 60 -
7.55 -
7.50 -
T T T
510 515 520

m=660, FV0=0
-o— ME
26. 0
25.5 A
25.0 A
24.5 A
24.0 A 9
T T T
660 665 670
m=660,m FV0=0
7. 60
7.55 +
7.50 4
7. 45 +
7.40 4
7.35
7.30 + MW
T T T
660 665 670

m=810, FV0=0
21.01 _o— ME .,o—N"\-o—o
26.5 -
26.0 -
25.5 -
25.0 -
24519 | |
810 815 820
m=810,m FV0=0
7.50 o i
7.45
7.40 -
7.35 4
7.30 -
T T T
810 815 820




hour

:00

:10

:10

110

:15

140

100

N
(S
I

80

- 60

- 40

% & Q& B &
A4 & B X B B[
X .:%,\ N AN N
< ] Q\z\ A\ )&’6

A

\%_
%,
) -
e
ey
>
“
4
%,
&
‘s N B

2

%

o
-



P3-5

BfiE) | BRI (D) | EE (EH/AR) | XK R

06:50 140 110.0 = {BRiB006:50 Fzh (FRFAEEE)
07:50 140 110.0 | =| 1Ri%e07:50 Fzh (KPBEREEE)
09:00 140 110.0 FA| {Ri%@09:00 Fzi (KAMEEE)
10:10 140 110.0 FA| 1BRi%@10:10 F3h (KAHEREE)
11:10 140 110.0 Al BRige11:10 Fzh CGRAEREE)
12:10 140 110.0 PR 1Ri&@12:10 F31 (REAERESE)
13:15 140 110.0 FA| 1BRi%@13:15 F3zh (KRAHERSE)
14:40 140 110.0 FA| 1Bi&@14:40 F3h (KRAHERESE)
23t]1120.0 (8%) 880. 0 3203 KEC: 2000.0, PH: 6.5

EREBRTC (140) 5F08A (169. 0) R, FIREM T % WEIEIRS X XER

ZRIANKPRIEBLO1.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

MR ELR R




P3-5_0, Day=22 (2025-04-20)

100 +—VH,-VO, TET—VI, VO, FVH FVO, FRV,adjFRV, ET - 1000
780
75 A - 750
50 - 45 458558 1 500
25 - 250
00 Warning: lcol [FVI',| "FVO’'] missing b o
0 -0
100 ¥ e e e e B S S B — —— ME B30
T maxM
575‘ L o8
ey b
E 90 : - 26 =
Z 251 L 24
1.0 22
1
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
= Bylnit @D24 02:48: ET=951 |[Fg=990.0 Ro=123.0 ¢ 1500
c 1
S 200 - i
N : L L & © - 1000
< 1
= 1
E 100 - : 1 - 900
o I o—
p— ———© e
1 ¥\—
0 i == = S S — V- 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
o | B | W | W& | #E | hs | #s | #s | B8 | B | B | A5 | A& | Bs | hs | Bs | @A | Bs | Bm | s | A5 | A& | Bs | hs | B& | 1°0°
c 1
%_200‘ ByEt @D22 18:40: ET=850 Fg=785.0 Ro=nan i
~ | - 1000
<
>
E 100 ~ L 500
o
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
> E | % | M | f | B | F | % (= %= | P | B8 | B | B | 8 | 3 | B3 | B3 | B | B8 | #8 | P | B3 | B8 | B [ 1990
C
S 200 A
2 - 1000
<
>
E 100 ~ L 500
o
1.0 0
0. 8
0.6 -
0.4
0.2 A
0.0
1500 1 | 4
[ ] | _obs
—@— PPFD obs
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.0

26. 5

26.0

25.5

25.0

—&— M_E

T
600

700
m=750,n FV0=0

T
800

26. 5

26.0

25.5 -

25.0

——

M_E

750

755
m=600,n FV0=0

T
760

9. 50

9. 45

9. 40

9. 35

9. 30 -

——

M_W

600

605

610

m=510, FV0=0

26. 50 A

26. 25 A

26. 00 -

25.75 A

25.50

25. 25 A

——

M_E

510

5%5
m=810,n FV0=0

T
520

27.0 A

26.5 A

26.0

25.5 A

——

M_E

810

8%5
m=660,n FV0=0

T
820

9. 00

8. 95 -

8.90 A

8.85 A

8. 80 -

——

M_W

660

665

670

m=600, FV0=0

26. 5

26.0

25.5

M_E

600

605

610

10. 5 A

10. 0

MW

660 760
m=750,n FV0=0

T
800

8. 40

8. 35 -

8. 30

8. 25

8. 20 -

——

M_Ww

750

755

760

m=660, FV0=0

27.0 A

26.5 A

26.0 A

25.5 A

—— ME

660

665
m=510,m FV0=0

T
670

10. 20 A

10. 18 A

10. 16

10. 14 A

10. 12 A

10. 10 -

-o— MW

510

5%5
m=810,m FV0=0

T
520

M_W

810

815

820




hour

:00

:10

105

:55

:50

145

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-5

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:20 140 110.0 (& =| 1BRiB@07:20 Fzh (KREEEE)
08:10 140 110.0 | =] 1Ri%@08:10 Fzh (KPIEREEE)
09:00 140 110.0 |Z=| 1BRi%@09:00 Fzh (KEERESE)
10:10 140 110.0 5| Ri18@10:10 Fzh (GREAERSE)
11:05 140 110.0 =l {Rige11:05 F31 (RAERSE)
11:55 140 110.0 | 1RiRe11:55 Fz (KREAERER)
12:50 140 110.0 E| {Rig012:50 Fzh (REERSE)
13:45 140 110.0 5| 1RiR@13:45 Fz (REAEESE)
14:40 140 110.0 5| 1Ri%e14:40 F (REEREE)
15:45 140 110.0 5| 1Ri%e15:45 F51 CGREAMEREE)
E3t] 1400.0 (100%) 1100.0 32 U3KEC: 1900.0, PH: 6.5

EREBRTC (140) 5F08A (169. 0) R, FIREM T % WEIEIRS X XER

ZRIANKPRIEBLO1.0 ml.
RE R i3k [B] RECEIB Hh ok

RER Bt HEREC/PHERRK, TTRESS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=21 (2025-04-19)

1004 VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 931r- 1000

75 4 - 750

547
50 45 4555 L 500

25 - 250
Warning: lcol [FVI',| "FVO’'] missing

100 - -

~
($)]
1

- 30

M_E

1
o
1

- 28

N
()]
1

- ; T e o1

—_
o

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

2000

300 1 L 1500

1 ’ 3 : - 1000

200 -

100 ~ - 500
S ) D S I —
400=L_A__H.a PR B 0

0o [ 1 2 | 3 [ a5 [ 678 [ 9o JoJin[i12]1w@]14]15[16 [ 17 18] 1920 [21 22T 23 ]35000
BA | FH | BH | BA [ BA [ FH | B | BA [BE | BF | B8 | B [ B [ BF | FE | B [ B [ BF | RE | B [HRE [ BF | B | B

1
vinit 143 = g= . o= .
Bylnit @D24 02:4 ET=859 Fg=990.0 Ro=105.0
1
1
1
1
1
1
1
i
1
1

300 - 1 L 1500
ByEt @D21 18:40: ET=1165 Fg=1115.0 Ro=nan !
200 A . - 1000
100 - - 500
b o @
400 5 0 1 T 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9
- 2000
[H ] BA 5] G EZS EFREZAERREEA NS 5 | BB & 5 5 EAREAEEAEZA R B | %=
300 - 1
ByWoFy @24 02:48: ET=931 Fg=1100.0 Ro=116.0 - 1500
- ——8 8 &
200 : ——38 - 1000
1
100 - i . [ - - 500
o —-& |16 & o & T
1.0 P PR o o o — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0ol B I B | B W | W |22 |52 |3z 52 5] B | & | & | B | B | @ | @ (522222220 | W |52

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

RH
[ ] RH_obs
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



31 A

30 A

29 A

——

M_E

660 760
m=750,n FV0=0

T
800

30.0

29.5

29.0 -

28.5

——

M_E

750

765
m=600,n FV0=0

T
760

13. 30 -

13. 25 A

13. 20 -

13. 15

13.10 ~

——

M_Ww

600

605

610

m=510, FV0=0

—&— M_E
31.5 -
31.0 -
30. 5 A
30.0 A
T T T
510 515 520
m=810,m FV0=0
30.0 A - M_E
29.5 A
29.0 A
28.5 A
T T T
810 815 820
m=660,m FV0=0
12.70 A - MW
12. 65 A
12. 60 -
12. 55
12. 50 A
660 665 670

31.

31.

30.

30.

14.

13.

13.

12.

12.

11.

11.

11.

11.

11.

11.

11.

11.

m=600, FV0=0

——

M_E

600 605

610

M_W

660 760
m=750,n FV0=0

T
800

90 ~

88 -

86

84 -

82 ~

80 -

——

M_W

750 755

760

m=660, FV0=0

31.5 4

31.0 -

30. 5 A

30.0 A

14.

14.

14.

13.

13.

11.

11.

11.

11.

11.

——

M_E

660

665
m=510,n FV0=0

T
670

10

05 -

00 -

95 -

90

——

M_W

510

5%5
m=810,n FV0=0

T
520

50

45 -

40 A

35 A

30 -

——

M_W

810

815

820




100

6:50
80
7:50
- 60
E 10:15
- 40
11:35
20
13:05
I I I I -0




P3-5

Bfig) | JEBATK (7)) | ERE (A | KR R

06:50 140 110.0 E 1BRi%@06:50 F a1 (RAERE)
07:50 140 110.0 & =| 1Ri%@07:50 F3h (KRAHERESE)
10:15 140 110.0 | =] 1Ri%e10:15 Fzh (kAEREEE)
11:35 140 110.0 |Z=| 1BRige11:35 Fzh (KREERESE)
13:05 140 110.0 | =| 1Ri%@13:05 F3 (KREBHEEE)
Bit| 700.0 (5%) 550. 0 3K EC: 2000.0, PH: 6.5

LOREBIRTC (140) 5748 (169. 0) A FF, WaEH T X BRIERSEXIER
ERIASKPRERE91. 0 ml.

large discrepency for begining water status (188:30.0), set to 156.0 ml.
BE R i3t Bl RECEIRE ER K.

REREBFHHEREC/PHETR K, AIREZINIRELRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=20 (2025-04-18)

100 4V, Vo BRY, ET — VI VO, FVI FVO, FRV; ad jFRV, ET 800
| 531} 600
7 45 4585 ©
50 - 400 E
=
25 L 200 &
. 00 Warning: lcol [FVI',| "FVO’'] missing 8 0 o
s
100 & 212V e O O e e R — ME P
maxM
75 32
I-ul
50 A l VWA T — =
- 30
254 P ———
1.0 28
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 1500
Bylnit @D24 02:48: ET=675 Fg=880.0 Ro=73.0 t o
_ 1 c
200 I - 1000 =
! =3 N
| =
100 A : L 500 i
: 5
o —o—lo—o —o— 3
0 —a o la P — \¥ 9500
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
i | B | B | B ||| BB 8 s | BB | B | FB | FB | BH | BH [ BA | BH | BB | BB | BH | BH | BA =
C
200 7"ByEt @20 18:41: ET=820 Fg=785.0 Ro=nan 1000 2
~N
E
100 - 500 1y
p o & 3
01 0 1 FZ 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9500
g | B | B | B | B | BB |Z2c|2=| B |2c|2=2c|%=| BB [ BB | FA | BB [ BB | FA [ BH | BA | FA | BH =
_ 1 c
201 ByWoFy @D24 02:48: ET=531 Fg=550.0 Ro=47.0 1000 2
~N
| =
100 A | - 500 5
1 5
p— & —& o6 &—— °
1
TOr=T T 213 0
0el M | B [ % [
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1000 ~ o | _obs
PPFD_obs

\J. o VPD




33 A

32 A

31 A

30 A

29 ~

M_E

660 760
m=750,n FV0=0

T
800

32.0 -

31.5 4

31.0

30. 5

30.0

——

M_E

765
m=600,n FV0=0

T
760

14. 20 ~

14.15 ~

14.10 ~

14. 05

14. 00 ~

——

M_Ww

605

610

m=510, FV0=0 m=600, FV0=0
31.5
30.5 1 —o— ME —o— ME
31.0 -
30.0 -
30.5 -
2_ .
9.5 30.0 -
29.0 - 29.5 1
T T T T T T
510 515 520 600 605 610
m=810,m FV0=0 m
33 0 T + M_E 14_ 5 _ + M_W
32.5 -
14.0
32.0
31.5 - 13.5
31.0 -
13.0
T T T T T T T
810 815 820 500 600 700 800
m=660,m FV0=0 m=750,m FV0=0
13. 80 - o— wu | 13201
13.18 -
13.75 -
13.16 -
13.70 - —-— MW
13.14 -
13. 65 -
13.12 -
13. 60 - oo 1310
660 665 670 750 755 760

m=660, FV0=0

32.0 A

31.5 -

31.0 A

30. 5 A

30.0 A

—o— ME

-

660

6é5 6%0
m=510,n FV0=0

14. 60

14. 55 A

14. 50

14. 45 -

14. 40 A

—— MW

T
510

5%5 5&0
m=810,n FV0=0

13. 20 A

13.15 A

13.10 -

13. 05 A

13. 00 A

MW

810

815 820




